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9132000 FbLqhtt >a
mLnn 450 31 50000 7000

Ctr4urrlttrp' 3150000

09123000 UbrlJ{ub quq pcu<
funp.LIbLnp 200 990000 4950

Ctr4ruilbtrp' 990000

41 000000 furlhlnL gnLp
rrntta
-LU\ 2F2 360 648000 1 800

Ctr4urlbtrp' 648000

$nhtruUrutu qhmntJplbn tr

qn urubtlul{urjhtt LJn tpbn .

30197632 flnrqp o$ubp A4 pcu< Ln n rql 2000 300000 150

30197646 flnLrlp o$ubp A3 pcu< !q 500 40000 80

22991000 flnLqp Aa (puqputl[L) PCU< qq 400 32000 80

37823700 PurprnbqLbpfr hurilurp pqpbn pcu< qq 750 2ZJUU 30

22800000 qhnp qp uu hL.1 ru L1url hlt
pcu< hruLn 400 20000 50

22852000-1

flqpur 14 uLu! q nLhhphtbl,hg

!n6uL1nu{ PCU< hr.uLn 150 45000 300



22852000-2 flqpuqutru! $uu11bpn{
pcu< huur 350 17500 50

22.8s1000 Upuqu!u.tp pcu< huun 100 15000 150

301 93200 l-dr1pur1uput1 FCU< huun 1 000 50000 50

301 99420 l-dnrrlp L2nrdLbpfi Qqlnttt pcu< huLn 250 1 0000 40

301 99430 flnrrlp L2nrdLbpfr rrrrt t/
-LU\ rnn u.lr 200 6000 30

30192121-1 9p[i un{npur!tutr /.rnttarLu\ hur.n 50 60000 1200

30192128 9nhr qbL. PCU< hulLn 100 8000 80

30192121-2 9p[l qpquL]r pcu< num 600 24000 4Q

301 92123 $lnrhuuunbp rrn.tt/
un n L{r 1 000 8000 8

301 92130 [JrurnIun pcu< nulul BO 9600 120

301 92760 unhr nnt t/ nuLn 150 1500 t0

301 921 31 tJum[un[ guLp FCU< nuu 500 1 0000 20

301 921 32 urur.nIrnI dfignrl1 FCU< unr$ 100 1 000 10

37822100 [JuLn[Ln qntLu{np nnt t/ Lnn[q] 500 5000 10

30192125 uupl4bp pcu< nuLn 250 1 0000 40

301 921 60-1 Cmnhfu PCU< nul Ln 250 1 0000 40

301 92r 60-2 CLnnhfu du qu {bttutl [tt
.rr|tt/ huun 500 5000 10

30197231 $r.n1t nnt t./
-LU\ hurun 20 30000 r500

301 921 00 flbm[tr pcu< huLn ?o 1500 50

39263320-1 Opugnqg u.lurLnh PCU< hurun 1 000 '12000 tz

39263320-2 Opurgnqg ubrlutrir L2nrdbbpfr FCU< hurLn 650 7800 12

30141200 <uZ{ht ubrluLir FCU< nultn 3500 21 000 o

22820000-1

C pgurL ur nnrpl n rtr in bqbq uqh p

(hu2rluquhur!nrtr) FCU< nuln 600 6000 l0

22820000-2 (frdLrutluL dhgngh qhnB FCU< nuu'r 600 2400 4

301 9271 0 Qnp unu[ttb nnt l/ num 250 30000 120

24911200 [rlnLlufru qpuu bt4urUutl htt
.rnt t/
-LU\ nuLn 300 3000 l0

39292500 PruLntr PCU< nuul 150 3000 20

301 99230-1 bpup db6 pcu< nuLn 40 2000 50

301 99230-2 trnun thnpn FCU< nurLn 1n r000 50

30197322 Urnbqlbp-l.pp[1 dbb pcu< nulLn 800 4000 5

301 97321 Umbqlbp-!unht Lhnpn pcu< n ul u'] 300 1500 5

30197112 Ulnpur (t1unhth uuhq) FCU< Lnn[4 1s0 3000

30192220-1 U!n1 db6 pcu< huLn 300 4500 15

30192220-2 Ulni {npp FCU< huun 120 6000 50

30197221 Utipu!bbp pcu< hurun 120 2400 70

30197120 9n6qrud r|n.tt/
-LU\ num 120 1 200 10

22820000

P1uLL1Lbp (urtrbLu!uL pbppfrtltrbp,

qnpbnrrphutr pbppfrlltrbp, bpfr tr
dn rrnpft op 4bptr bp, rlbpbtr u1 fr

nLqbqpbp L u11L) pcu< nuul 20 20000 1 000

37823800 Urnr{urpupnrlp /3dd/ nnt t/ qq 1400 42000 30

30192740 9nrLu{np pnlqp o$ubp 44 pcu< qq 1250 26250 LI



39263600 UbrLuLh hurrlurpubnt FCU< nulm 5000 30000 6

39253530 Ubqdurtt /LIb6/ PCU< mnLr.h 240 1200 5

39263520 UbrrdLutt idhghL/ pcu< mnlql 480 2400 5

3926351 0 Ubqdurq hhnBfil pcu< r"n n u"h 720 3600 A

39254120 alruLnf drudugnrlg Pnu< huun 2500 12500 5

Ctr4urdbtrp' 990350

SLrn buurUutr uutrhhqhhtthlt I't

t4rugBh dhgngtrbn, Ubtrgrunuthtt
ruqnrutrptbn

3371 61 00 Gnrrlp qnrqupultrir 7/ h r.u ur 100 1 00000 1 000

3371 1 900 06tun 6bnpit >/ hruur 150 75000 500

31 321 000-1 hthU unn ur ! urtr h ur qn p qur pu p 2*2,Srltl >/ q6.dbLnp 200 80000 400

31321 000-2 hgbLlrnpul1urt h,nnlntu,L*f'?1,5tr >/ q6.dbmp 150 90000 600

31300000-1 Lftulnrfu 2"6dd >/ q6.LIbmp 450 22s00 50

31300000-2 tJurlnrfu 4"10dd >/ q6.rJbLnp 1200 96000 80

31224100 {upquL,; >/ hu.rrr 550 27500 50

31212100 Utrgrum[1
>/ nuLn 550 1 6500

31 651 000 l.Ib! n ru fr1 dru q ur {btt
>/ nuln 200 20000 100

31410000-1 hlbdbtrrn (rftupuntlng) db6 >/ hr.uu 300 36000 120

3141 0000-2 hlbdbLrn (rluprn!ng) thnPn >/ huLn 12Q 1 8000 150

31 531 000-1 ElbLpnprullurtr l.urlq 1 00'l-uunm >/ nurn 100 30000 300

31 s31 000-2 [1blmpurlrutr ludq 60 'ltumun
>/ hurrn 100 15000 150

31512200 (rulnqbtr [LudLq
>/ nulLn 500 1 0000 20

31224810-1 bp!urpurgdutr 1up (3LI) >/ num 3000 12000 A

31224810-2 bpLluiprugrlurL lurp (5rl) >/ hr.ur"n 2500 1 0000 4

31224810-3 bp!rupurgdrutr 1up (1 0d) >/ NUJ LN 2000 3000 4

39831240 Lrlwgph thnZh
>/ Lnnrql 250 5000 60

39831 000 l'Iufu2u qhn2[ >/ nultn 450 22500 50

39224100 u4bL >/ huLn 800 40000 50

31 321 000 (rur1np4ur1up rulnrrlfrL[g (add) a< lq6.dbunp 20 60000 lsoo

1 9640000 A n fi f pfr lbtr ur1 frL pu rlurtt P C< lq6.tlbmp 200 40000 lzoo

38341300 S bu rnbp f 1b! r"n p ur ! utr n rP1 rutr C< lhuLn 3500 1000 lo

31212000-1 Urlrnntluun utr2urrnfrl hnurutrpfr. 32A C< lhurun 11800 9000 ts

31212000-2 UrlrnnrluLn urtr2urnfrl hnuuLp[ 634 >/ huu 2000 0000 ls

1 81 41 000 t bntr n g ur2fu ur rn urLpLUJ htr a< lq.nrtq 350 21000 loo

1 8424300 tbnLng !bttguqulftlt c< lq.nuq 200 30000 ltso

2491 0000-1 U n u irtrh <<lJn rlbtr m>> C< lhuLn 1200 9600 la

2491 0000-2 U n u irtrb <<lrln Lgu ir ur>> c< lUq 900 18000 lzo

31532700 Sbpb! rul frtr Ln tu u dqh n qh
>/ num 5250 42000 3

31440000 UbdpurlfrL tftupunQng (12 {n1Ln) C< lhum 35000 700000 lzo



31440000 [LbrlbLr"n <<9nnLu>> >/ nulLn 500 1 0000 20

31s21000-1 k! ntr nrl [Lu LIU] 2!l* s s >/ nulLn 1 000 150000 150

31 521 000-2 [!ntrnLI Ludu] 60 .luunm >/ hur$ 2000 1 00000 50

39224330-1
rlnql q1.uruLnurdruub (51)

>a hum 600 6000 10

39224330-2 nnq1 qluu*,utluq_0 !_U
>/ huun 1 000 1 0000 l0

32552100 (bnufunuI ut4ufrurLn 7a nuLn 3500 21 000 6

1481 1 300 (qqnq u!urrlurnrutl
>/ nulu 6000 1 8000 3

39298300 bur q! ru rluL q 1ur u Ln rfti u h
>/ NUJLN 500 12500 2J

34928480-1 UrpudutL qpuft >/ nuLn 5000 20000 4

34928480-2 UrlpurdurL LbPuft
>/ huur 1500 1 6500 11

31 521 000-1 3bpb!rulirtr [uLIu.{ 20 'luLnm
>a huut 500 1 0000 20

31 521 000-2 Sbpblurlirtr Ludq a0 qr* >/ hr.uun 800 1 6000 20

39224310 2nrqrupruLir funquLuu t1
>/ num 1200 36000 30

42122130 Qp[ qndqhur4r4,r, rl!u, >/ nuim 15000 45000 J

39830000 Uqur[1nL hbrlnttl
>/ NUJLN 500 25000 50

39525800 tJurppnq LlnnPLbP
>/ huun 500 50000 100

39831245 (br1ntl4 o6urn 1l
>/ hurur 450 1 3500 JU

1 831 8200 fu uulurp (uqfrrnur!, Qn L!q4!_F) >/ nuln 6000 120000 20

3971 341 0 (ruunrut4fr thu1un
>/ nuLn 1 000 8000 8

39241200-1 tLnfr dlpuin C< lhurut 1 800 3600 12

39241200-2 hrn[ rl!purLn (bP!tr Pruqn:n{ lutm 4500 4500

4451 0000 (uppu2ntpP >/ ']ulm 1400 8400

44512200 UBqurL uu 1400 8400

44512800
tlunnLunru!uhurtl ulu 300 3600 1

44512940
rl-l 

Ln n run ru ! ru hutr fr L1n rlq 1b! un !nLIqt 1 600 )600

44512940 rln rp bp[r h ur Llruprubnr (! nrlq tbl] Ln) >/ Ltndqt 600 1600

44512900 +ur1 fi ! nL fr h ur riurPrubn L

>/ tin,Jqr I:SOO lTooo

42660000 alrulultr[r! (q.n+hd v/ hr.uLn 13000 9000 J

44411100 bnpu! gpit
>a nurul 5500 33000 6

44511210 al ur 1ur LnL n(rlbrn ur ffr u rt10 >/ nurLn 6000 40

44521210-1 gnqqbp l.lurfun{h 7/ nuLn 700 8500 q

44521210-2 gnrlqbp 6nqrutrn{
>/ nuLn 700 8500 5

44522400-1 AuIruhir dfrgnr! (80LId)
>/ nurLn 2400 24000 10

44522400-2 Qur!rutrir rlfr2nrt4 (1 001I0 >/ nuLn 1 600 1 6000 10

4451 1 1 00 Fruh 61nrL rluPPblnt >/ hutn 4500 27000 6

44511120 Furh 1ur1l bq,nn{
>/ hr.uut 1500 12000 I

4451 1110 Fuh rJpnphlnt
>/ nuul 1500 9000 6

44511340 angF >/ hur.n 2000 4000 2

44512700

fu upunng (bnurtrt4nLLh, [.llnf'"

unut]ru!)
>a Undql 21 00 4200 2

44512300 tJnrp6
>/ num 1 600 3200 2

38412000-1 Qbp rlurlur r.h u bL1 u L1 tu1 [lt
>/ nuLn 400 8000 20

38412000-2 Qbprhulur.h 4Puft
>/ huLn 2000 12000 6

39515450 ChpLnrur{runurqnU n hn nlqnt *_UgL >/ pil 7000 70000 10



38330000-1 tJbmp (3d) >a nuLn 400 400

38330000-2 Ubinp (5d) >/ hu.rm 800 800

31521320 9p qurtr fr 1ur q Ln bp [!L bp >/ nulm 1500 27000 18

35111300 9purtarlurp[1Lbp >a hr.uun 25000 75000

38330000-3 UbLnp (10d) >/ nuLn 1200 1200

Ctr4udbtrp' 2799600

ChtrutrJntp

44111200 SbdbLm aa !q 75 30000 400

14211 000 u4uq. >/
lunp. dbLnp 6000 1 8000 3

44192100 Q p {r n rp 2frtr u p ur p ru L1 rutt 7/ nuu'l 1500 1 5000 10

14820000 Uqutlh >/ purn.LIbunp 4000 40000 10

44812210 1,bn! (nLrluLbpLl) >/ trq 1300 78000 60

39224310-1 9urd 40rld >/ qq 700 1400 2

39224310-2 $rurl 60dd >/ !q /00 1400 2

39224310-3 9urd 80rltl >/ qq 700 1400 2

39224310-4 9rud 100tld >/ qq 700 1400 2

39224310-5 Qrud 150dd >/
Uq 700 1400 2

39240000-1 gunpnrl u!rur{urnrutf (1 1 sdd) >/ NUJLN 800 8000 10

39240000-2 \unpnrl u lqrurlur nrull (230dd) >/ N|'ULN 1 000 1 0000 10

24951120 U[filantr >/ hu.rLn 1 000 15000

444117 40 2nLquupurlut4nltp >a nuul 33000 99000

441 631 00-1 tunqnr{ru! 6lnrtr (50ud) >/ hr,uun 1 000 5000 5

44163100-2 tuntnllutl 6!nrL (70ud) >/ num 1400 7000 5

441 651 00 ftbunirtrb funrlnrlurtl 3/4 4nqd
>/ q6.dbmp 450 22500 50

4451 1 500 Uqng r.hurpn[ bbnpft >/ nuLn 1 900 3800 2

44424200 9qlnrtr duquu[btt pr[pJLrl >/ nuru 300 12000 40

441 631 00 t-ulurg ruuLir tlfrurgtluL fun r1n{uL1 >/ hu.run 900 r 8000 20

44832000 Lnrbh:
7/

thmn 1100 11000 10

4481 0000

l,bpQ (qpnrtrLnrulitL h[dpn{

lnLquLbptl).
>/ qq 1200 1 8000

24952000 Obtltudu6[ta 7a qq lbu 28800 180

24951120 Uf fi!ntt
>a huru 1 000 1 0000 10

44521110 rlnurtr qhuLltult >/ nuLn 5500 5s000 10

42130000-1 QruLlrutr gVl (112 +nUd)
>/ h ulun 1 500 3000 I

42130000-2 QurQrutr 2plr (3/a qnULI) >/ hum 2500 5000

44411300 l-r{ugurpulr >/ nulut 17500 1 7500 1

44115710 Uru6!bp 7/ pun.dbunp 5000 500000 100

44170000 lJbrnruryru phpbq 0,6LId >/ pun.Llbunp 2000 48000 24

44531300 rl r.nnLur.r-r! tlbfu (!mnLpft) >a qq 1 000 6000 6

441 91 000-1 Qru.;mlru tnfrunt (5-1 0utl) >/ funp.dbup 1 80000 21 6000 1,2



44191000-2 Ou1 in1 ru hbburunurfuururtl (2ud) >/
funp. dbunp 1 80000 288000 1,6

44531300 Srutrfrpfr phpbqh qLnn rrnultrbp >/ nuLn 1n 3000 300

44192800-1 lrbnlf h nnhq (rnruppbp turLhh)
>/ hurLn 2250 9000 A

44192800-2 .fpdirtr Lbn|.|h (rlbb, r.hnpp) >/ hr.uur 2000 8000 A

44812220 QpurLbpLibp >/ qq 1200 1 20000 100

391 911 00 tluuunuun 7/ S,upbp 2500 250000 r00

2491 0000 rl-lruuLnrunfr unu[Ld >/ Lnnrqh 1 800 14400 B

Ctr4urrlbtrp' 1999000

[I4mnrquihbumurluubn

31512360 l-nruurpbruqh ludqbp >/ nuLn 900 14400 to

34331300 Upqbpru!durtr 1n11 ubpI ludqbp >/ hr-uur 200 2400 12

921 1 650 Upqblur Lltlutr hbrln LL1
>/

Frnn 2500 30000 12

343511 00-1 Utrrlur4nrlbp (!U.l2) >/ nulLn 68000 272000 4

34351 1 00-2 Utrrlur4nrlbp (ftU$) >/ hLur,n 42000 1 68000 4

34351 1 00-3 Utrrlru4nqbp (nFU2) >/ nuiLn 52000 208000 4

34351 1 00-4 Utrr{ruq,nqbn (hd) 7/ hr.uun 26000 I 04000 4

34320000

Udn p rn irqur rn n p-h ru p rlurdru rlb r1d[1

(hd) >/ n u_i Ln 9000 1 8000 2

34320000

Udn p rn frqru rn n p-h ru p rlubu db r1d[1

(ftu$) >/ nuJm 1 0000 20000 1

34331 300

UdnpLnfrquLnn nh nbqirL Lnn L1!urtrbpn{

(ftus) >/ huur qnn 4000 8

34331300

UrlnpinirqruLnnnh nbqfrL Lnntl!uLbpnr{

(hd) >/ hurLn 450 3600 B

34331300 Qpfr qnrlq (flFUA) >/ num 9000 9000 1

34331300 Qp[ qnrlq (qULl2) 7/ huLn I 2500 12500 I

34331300 aph qndq (ftu$) >a nutu 9000 9000 I

34320000 t-l-bd btr-r.h n qp u 11 ( n FUQ) >/ num 1500 6000 A

34320000 ft brlbtr-rlr n r1p u.t Q ( I U.l-2) aa hurr-n 1 500 6000

34320000 ft btlbtr-r.h n r1p ut ! ( ft US )
>/ nuLn 1500 6000 4

34320000 flbrlbtr-fnr[pu! (hd) t/ hur Ln 1500 3000 1

34331300 9pbuLnrurlfrtr- fuulnr! (n FU2) >/ nuLn 4500 9000

34331300 trpbuLnur{[r- fuulnL! (qULl2) >/ huLn 5000 1 0000 )

34331 300 9pbu un ru rlfrtr- furuln L! (ftU$) 7a num 4500 4500

34331300 9pburnurl[tt- fuulnL! (hd) >/ nuLn 3500 3500

34331300 Ungtrfi upqblwQduL Lbpr]fip (hd) >a
Undqt 5000 s000

34300000 D ru p ru r{n-fuLd n p ru ! ( h d) 7/ nuul 3000 12000 4

34320000 Sluqurlir-fuLdnpu! (hd U ftU$) >a nuLn 1 500 1 5000 10

34320000 U unuprnlnp-db!L u p t1[1 (! UaQ) 7/ nulLn 38000 38000

42943210 Gbprlnuunrurn >/ hum 3000 9000

34312500 1, bp 4ir p/tt u ! 1u 4! utlh bLn trft >/ t1nrlrll 7500 30000 ^

34322000 Ung[[ !n6r1
>/ hurLn 12000 24000 2

34300000 LbpupLl[1[ qhnl.1 num 1 000 2000 1



34320000 tJbr1dhlh rul.putrng >/ !n'Jqt 800 4000 c

34320000 ubm ur rlurd n rlfr u 1.1 trL n g >/
Und,.tt 4000 12000

34320000 9urlnLLupurpI ui!uLng >a !ndqr 1 800 7200 +

34320000 9iupqurLurl [L hn r1u Lluq >/ N|'ULN 1 8000 36000

34320000 Upqblu![r 6qudpnq >/ hu.rur 2500 12500 5

34300000 Ungh[ upqblut4fr !uququp >/ nuul 3500 14000 a

34300000 (bLnlrfr upqblur! [ Qrurlurqrup
7/ num 7000 42000

34320000 fl rdu.rL u l1-ryfrtr ru dn (ft U$) >/ hu.ru 34000 34000 I

34320000 bplurplur ulurL{unuQ (Ll ULl2) >/ hu.rLn 32000 32000 1

34320000 QurrJrnrtl u! ru r{untu! (q U.l2) >/ huun 1 6000 1 6000 1

34320000 ftuq{ufi nbqfiL (hd) >/ !nd1b!m 3000 9000

34320000 ftuq{ufi nbq[L (ftu$) >/ !nd1b!tn 4000 12000

34320000 ftruqrlrufi nbqfiL (qUqQ) 7/
!nd1bL1m 4000 12000 3

34320000 ftruqr{rufr nbqfrtr (nFUA) >a
!nd1bL1un 4000 12000

34320000 FbLqfltt[ 2lrxLq
>/ rlbmp 1 000 3000 3

34320000 l-IbunpI nbq[L (qUqA) >/
!nd1bL1un 4500 1 3500

34320000 ftbunp[ nbq[L (ftU$) >/
!nd1bL1Ln 4000 12000 J

34320000 ftbunpI nbq[L (hd) >/ 11nd1b!un 3000 9000

34320000 ftbunpir nbqfrL (nhUA) >/ L1nd1b!Ln 3600 1 0800

34320000 Upqblu!duL nbm[Lb funrln{uQttbp
>/ nuLn 1500 24000 lo

34322000 Upqblur 11 rlutr q n6qlu qL bp >/
Un,Jqt 8000 32000 4

24951 31 0 (ur!u.rurunfrl hbrln L! (uL un[$p[q) >/
nLnn 1200 96000 BO

31440000 uupLnLlng 75A >/ hulr-n 38000 76000 2

9211410 S p ru utr u rlfr u fr ntr 
1 

n rr1 7a
2t12 1 000 20000 20

0921 1 000 €uu1nrr1 Uq 1300 5200 4

42511128 onh qmhr >/ qn,ir. 
1L 800 3200 4

34300000 3nrr1[ qm[1 7/ nuLn 1 200 1 9200 to

0921 1 1 00 Crupd[1[ lnq . t
>/

nLnn 1 200 144000 120

34326200 nnrl!purrn hh+nu4Lhtt >/ nuu 28000 28000 l

34312400 Cupdft1lt dfung Lr orlurt4 (L1U.i2) >/
UndqL 25000 25000 1

34312400 bupdfi1fr rlfung tr oqut.t (hd) >/
!n,JqL 25000 25000 I

34320000 c!{npL[ (nFuQ) >/ llndqL 1 5000 1 5000 1

34320000 c!{npL[ (ftu$) >a LlndqL 1 5000 15000 1

34320000 b!{npL[ (quq2) >/
Unr.JqL 1 8000 1 8000 1

3431 2500 Uhluqhn (nFua) >/ lqnr.lqL 7000 7000 1

3431 2500 Uhlu+hn (ftu$) >/ Undqt 7000 7000 I

34320000 3nrq[r u]ndq (tiULl2) >/ hr-uur 12000 12000 1

34320000 Urnnrqirgur (nFU2) hurLn 1 0000 20000 a

34320000 UnrutrgpruLlulLbp >/ nuLn 3000 I 8000 6

34320000 Su!q[pltbp (ftus) >/
Undql 4500 4500

34320000 SuqqfipLbp (nFuQ) >/
Unduil 4500 4500

34320000 ulrngh durnLbp (nFUA) >/
Unr.Iqt 8000 8000

34320000 Ufungh durrnbbp (ftUS) >/ !ndqr 8000 8000



34312200 .lurnngpfr dnilbp >/ nuLn 850 20400 24

34312200 .ltunngplr dnrlfr duln{u >/ !ndqL s500 r1000

a4szoooo tJbtlLur p ! frlfr r.'h ur ! uL ( ftqq) >/ nulm 4500 4500

34320000

S p ur Jpfrfr np-h n u urtrpir pLu2fuht

(t1UqQ)
>/ nul u1 22000 22000

34320000 FbLqhLh r4ndul >/ nun 8000 24000 J

C!4rurlbtrp' 2077400

4urlut|upq:tuJhb tr

ulum6btrruhrutrrlutt

u runpu4n n n rdt bn I'r odrutrurlrul'l

trJnrpbn

30234600 $1b2 purpun h*,lrq*!ql4_E >/ nuul 4000 120000 30

30125100 Pruprnpfrg 78 >/ num 15000 120000 B

30233152 DVD ulu{unut1 >/ nuul t)u 90000 600

30233151 CD utlurr{unuti 7/ num 100 1 0000 100

37823700 allnmbpir pnrqp 7/ ttupbp 17000 255000 15

301 251 00-1 PrupLnplr2 HP 1OBL
>/ huu 25500 76500 3

301251 00-2 Pruprnpirg HP 82 >/ huru 27000 243000 9

32421000 SrutrgrulfrL drulntiu >/ q6.dbLnp 95 1 9000 200

30230000-1 ULrfuruqhurL utrnrgrlurlr uurpp U PS >/ hur Ln 20000 80000 4

30230000 UPS-h rhupunlng >/ nulLn 9200 147200 to

30237132-1 USB rhulntfu (3d) >/ nuu't 500 2000 +

30237132-2 USB rlurlnrlu (5LI)
>/ nuLn 00 2800 i

30237132-3 USB durlnLlu (10d) >/ hurLn 500 6000 A

30237410 (ru rfuu ! ur pqtLu1 htr dt{tr h 1.1
>/ nulm 2500 30000 ltz

30237460 (ur dur t1 ur pqtul1 hL u m bqL ul2tl p >/ hurur 4000 40000 0

30237140 uurlpulurtr uurhq >/ huur 35000 7s000

30236110-1 0qbpuLnfrL{ hfr2n rlntplurL uurnB 1 GB >/ huLn 2000 60000

302361 1 0-2 Oqbpurrnirr.l hhZnnnlpl*! rglP 4Gg 7/ hr.uun 25000 00000

30236110-3 OqbpuLnfrr{ hfr2n r1nLp1 urtr uurnp BGB >/ hr.r.rrn 47500 42500

30232140 qLluht{ qlnmbpit >/ hr-uun 26000 04000

30230000-2 Utrfuur.hultr uLnrgrfuutr uurnp U19 >/ nuim 15000 60000

30233132-1 trn2ur ut4urr.lurnu! 500GQ =___ ' >/ hum 35000 05000 J

30233132-2 9n2r.n ulurtlunu! 500G8 2qlquiluttt >/ hurur 34000 68000

30233132-3 2urpdur!ult
>a hur"n 48000 48000

30230000 Upurrupfrlr tin2rn uL1u.r r{urnruL1 3GB >/ nuLn 80000 80000

30237220 Ut{Lht{h rnru1.14[pltbP 7/ hurun 1500 45000 30

302371137 SbuutpupLn nuLn 35000 140000 A

39717100 0aurrf nfu[1 qpngbunpft >/ nuul 4500 27000 6

30230000 ULnrgdurtr uupp 620 >/ nuLn 49000 98000 2



Ctr4rurlbtrp' 2494000

tlZlurumulpthn

4s400000

q n UL1-h qLfuur4nn rfuuuLu2bltpir

ubtrl rultrbp[ h ruqqurl frLr 4[LnuguuLgh

QurlllLbpfr ntrpurghq hurprlurpnrrl nn.ll/
+nurd 670000 670000 I

45261 900

q n Uq-h qfuru4nn rfuu utt tu2bLP[

Lnurlfrpfr rlbprutrnpnqnLrl nnt t/ rlnrurl 320000 320000 1

Ctrrprdbtrp' 990000

UrunruJnrpjnrtrtrbn

6530000 Etr bpqbLn fr 1.1 6u nrul n Lp1 n rtrL bp n.].lt/ r1nurd 8400000 8400000

64211 000 I ru q h Burnurl n Lpi n rLL bP
.)nt t/ rlnurl 3200000 3200000

65111000

\ntlnrtr ur1 6runrulnLpl n rLtrbp tr

4bnur ur frqug h ur (! u n fu u nqbth:
urfuunuhuutrnul) FCU< rlnud 400000 400000 I

79980000 Gbp pbp fr pudrutrn p quqp n rP1 n ttt FCU< qnurd 400000 400000 I

79970000 9pBir Lnquqpntp.lntlt pcu< +nurd 400000 400000 1

72500000

(utftutiurpqhturlhL, Lnu{ht uuppbp['

{bp ur 1.1 wtrqtr n rrl, 1-ur 
qbp url irtt

Ln q frlL bp lr tr puqrlurgLr n 11 u ur ppbp ir

purLupfr Lr trbpl.abpfr frgpurrlnpnLd
nnt t/

rynud 650000 650000

665141 00

U{rnndbpruLuLbpit

uqurhnr{uqpnrplnrtr Fnu< +nurd 1 50000 1 50000

71631200

S p urL u q n p un u.1 frl- dflgngL bp fl

rn bfuL ir Q ur ! ru ! urtr qLL n rrl pcu< qnuid 1 00000 1 00000 I

4531 5300

[1b! m p u ! uttt h tu2tlftllt uP P

Lnbqr,uqpnul
.)r|tt/
FLU\ rynurd 30000 60000

Ctr4udbbg' 13760000

Cl,+<ULnFnC' 29898350


